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7 100kN/mM%BZ 5 — - ~ — —|3mZTBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mZEBZ S - ~ — — —
s 1.00 | 0.00 ~ 482 70.78 | =hSY 000 ~ 000| 1.72 7.99 st 1.00 | 6.00 ~ 7.50 70.78 | ThSY | .00 ~ 760|172 7.99
2 100kN/m%E#82%5 | 1.00|0.00 ~ 0.19 103.13 |3mZEBAD| — ~ — — — | 100kN/ %8825 | 1.00 | 1825 ~ 2023| 10313 |3m&E#Z5 - ~ — — —
s 1.00 | 019 ~ 687 100.00 | =nst | 000 ~ 687|214 992 st 1.00 | 6.00 ~ 1825 100.00 | =nst | 6.00 ~ 2023| 2.14 9.92
3 100kN/mi%E#82% | 1.00 | 000 ~ 124 121.27 |3mZEBAD| — ~ — — — | 100kN/ %8825 | 1.00 | 1294 ~ 2018| 121.27 |3m%E#Z25 -~ — — —
s 1.00 | 1.24 ~ 793 100.00 | #nlst | 0.00 ~ 7.93| 2.36 10.95 st 1.00 | 6.00 ~ 1294 100.00 | =nst | 6.00 ~ 2018 2.36 10.95
4 100kN/m%E#8z5 | 1.00 | 000 ~ 062 11043 |3mz#z3| — ~ — — — | 100kN/ %8825 | 1.00 | 1462 ~ 1888| 110.43 |3m%E#Z5 - ~ — — —
s 1.00 | 0.62 ~ 730 100.00 | #nst | 000 ~ 7.30 | 2.23 10.56 st 1.00 | 6.00 ~ 1462 100.00 | =nst | 6.00 ~ 1888| 2.23 10.56
5 100kN/mM%#BZ 5 — - ~ — —|3mZTiBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mEBZ S - ~ — — —
s 1.00 | 0.00 ~ 5.90 87.37 | #nS | 000 ~ 590 1.94 8.99 st 1.00 | 6.00 ~ 1403 87.37 | #hLS | 5,00 ~ 14.03| 1.94 8.99
P 100kN/mM%#BZ 5 — - ~ — —|3mZTBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mEBZ S - ~ — — —
s 1.00 | 0.00 ~ 5.99 88.68 | =nLs | 000 ~ 599 1.98 918 st 1.00 | 6.00 ~ 1306 88.68 | =nLS | 5.00 ~ 1306| 1.98 918
- 100kN/mM%#BZ 5 — - ~ — —|3mZTBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mEBZ S - ~ — — —
s 1.00 | 0.00 ~ b5.44 80.13 | =hst | 000 ~ 000 1.70 7.89 st 1.00 | 6.00 ~ 9.21 80.13 | =h4 | 6.00 ~ 921 | 1.70 7.89
P 100kN/mM%E#BZ 5 — - ~ — —|3mZTiBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mZEBZS - ~ — — —
s 1.00 | 0.00 ~ 5.32 7823 | #hS | 0oo ~ 000 | 1.74 8.08 st 1.00 | 6.00 ~ 8.62 7823 | TS | 5.00 ~ 862 1.74 8.08
9 100kN/mM%#BZ % — - ~ — —|3mZTBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mZEBZ S - ~ — — —
s 1.00 | 0.00 ~ 353 5212 | #nSt | 000 ~ 0.00| 1.70 7.89 st 1.00 | 6.00 ~ 5.00 52.12 | =hS | 6.00 ~ 6.00| 1.70 7.89
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3ImERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhest ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhLst ~ FhLst ~ FhLst ~ st ~
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